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Name: Date:

Teacher: Class:

7 Comparing Decimals 408

How did the elephant hide on the pool table? He was
wearing a green hat.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Example: 10.2 2.1 10.2>2.1

9.69  6.44 21. 9.95  0.37
041 0.18 22. 054 7.82
1.16__ 8.94 23. 0.90 855
042 415 24. 591 7.79
9.17__ 4.66 25. 0.88__ 0.39
0.35_ 0.81 26. 879 7.29
2.64 011 21. 7.04__ 0.57
0.65__ 8.29 28. 042 4.15
0.69  0.28 20. 917 4.66
041 0.24 0. 0.35_ 0.81

© Facilitators Ferriswheel

Score:



Answer Key Date:

Teacher: Class:

7 Comparing Decimals 408

How did the elephant hide on the pool table? He was
wearing a green hat.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Example: 10.2 2.1 10.2>2.1

L 0.84 < 1.16 11. 9.69 > 6.44 21. 9.95 > 0.37
2. 0.17 < 0.95 12. 0.41 > 0.18 22. 0,54 < 7.82
3. 0.39 < 4.05 13. 1.16 < 8.94 23. 0.90 < 8.55
4. 0.65 < 8.29 14. 0.42 < 4.15 24. 591 < 7.79
5. 0.69 > 0.28 15. 9.17 > 4.66 25. 0.88 > 0.39
6. 0.41 > 0.24 16. 0.35 < 0.81 26. 879 > 7.29
7. 0.78 < 1.00 17. 2.64 > 0.11 27. 7.04 > 0.57
8. 553 < 855 18. 0.65 < 8.29 28. 0.42 < 4.15
9. 591 < 7.79 19. 0.69 > 0.28 29. 917 > 4.66
10. 0.88 > 0.39 20. 0.41 > 0.24 30. 0.35 < 0.81

© Facilitators Ferriswheel Score:



